Bellwork  Alg 2B Thursday, November 9, 2017

Solve each. Round to the nearest hundredth.

1. log,(x+1) +log,(x-2) =2 2. logx = log(x+2)+1
= 1 _ 2 1
3. 3In2x+4+5Inx =7 4. — = =25 +
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Solve each. Round to the nearest hundredth.
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%097/[()(4—1)()\-2)] = L

log x - log (ki) =|

e [x-2) =2 X '
g l6g (‘5@9 = |
ZL: X?_'—X"Z,- X
L X
L{':_Xl—— -2 \O - X‘fL_
- - X
S A (x)-10 = 35, * (¥t
0% 2o = X

-0

/§C”<L o = (X—’>3(><+%) i "
- X= 310k S ﬁ
; A

) L __2 _1
3. 3In2x+4+5hx=7 4 Y7 " x4+l X %(/Z—\) x(x 1)
5. : CTT
oo o487 =
X-2 X+ X X XH
P (50) + Laxd =3
L zx o (xn)
I8¢ %) =3 XTE w0
A A x- |
JZV\(?X ) 5 K-z XLt +X
' -
c% 5, ﬁ%} [,(XL+¥) - (K"-)(K“l)
= é"/ /
&
Yhrt = YE-axt L
sle’ 3 &
_’g/_ =YX X = —3r¥ 2
33X 4K
=2
Yoy




